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Question Number : 1 Question Id : 2549897068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

DMA stands for:

Options :

1. % Direct Memory Access

2. % Direct Module Access

3. & Distinct Memory Access

4. % Distinct Memory Allocation

Question Number : 1 Question Id : 2549897068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

DMA &1 qUf &0 F1 82

Options :

1. % Direct Memory Access (m AR qa@%r)

2. # Direct Module Access (W Ih@ff Q?:th)

3. % Distinct Memory Access (%‘%_GE TR Qa'\ag)

4. % Distinct Memory Allocation (%ﬁ%a? Ry QFﬁav_QF[)

Question Number : 2 Question Id : 2549897664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

1 gigabyte is equal to

Options :

1. % 103 bytes

2. % 2l6 bytes

3. % g30 bytes

4. % 230 bytes

Question Number : 2 Question Id : 2549897664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

| fhmraTge & R B
Options :

1. % 10°0 91I5CH

2. % 216qEey

3. % g30qgcey

4. % 230913y

Question Number : 3 Question Id : 2549898654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements with reference to a Solid State Drive are True/False?

(1) SSD is a non-volatile storage device.
(i1) Solid State Drives (SSDs) use a combination of NAND flash memory technology and advanced controller algorithms.

Options :

1. % (i) True, (ii) False
2. % (i) False, (ii) True
3. % (i) False, (ii) False
4. % (i) True, (ii) True



Question Number : 3 Question Id : 2549898654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Jifers ®e 154 (Solid State Drive) 3 T & Fafeifad # & & o1 wy= 98/ /Tad 82

(1) SSD U A-dIcersd TR feagy (non-volatile storage device) %I
(if) TS W< BT2d (SSD), NAND TRl A} dob1ar 3R I7d Fdae TaiiRed & Yaiei &1 SUaRT 1d & |

Options :

1. % (i) Fal (i) Tad
2. % (i) TTId (if) el
3. % (i) TAd (i) Tad

4. % (i) T8I (ii) Tal

Question Number : 4 Question Id : 2549898761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

YACC stands for:

Options :

1. %" Yet Another Compiler Compiler

2. % Yet Another Complete Compiler

3. % Yet Another Compilation Co-processor

4. % Yet Another Complete Co-processor

Question Number : 4 Question Id : 2549898761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

YACC &1 quf =0 & 82

Options :

1. 3¢ Q?f&la“\f HUSR HUTSAR (Yet Another Compiler Compiler)

2. % YT Q'_‘TGET P HUZER (Yet Another Complete Compiler)

3. % YT U3IER HURARH a’ﬁ-m(Yet Another Compilation Co-processor)
4. % T U3{R HIAIC HI-URHER (Yet Another Complete Co-processor)

Question Number : 5 Question Id : 2549898894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a data storage device that includes flash memory with an integrated USB interface?

Options :

1. % CD

2. %" Pen drive

3. % Tape drive

4. % SD card

Question Number : 5 Question Id : 2549898894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafered # 9 o1 9 a5 Se1 Rl f$a1gd & S/ T $EHICs USB et o H1Y Teie AHR] RMHe &7

Options :
1. % CD
2. ¥ U 81%a
3. % CU SR
4. % SDHIS



Question Number : 6 Question Id : 25498911570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keys such as Ctrl, Alt, Windows logo and ESC, which are used alone or in combination with other keys to perform certain actions in
Windows OS, belong to which of the following groups of keys?

Options :

1. %" Control
2. & Logic
3. ®% Monitor

4. % Navigation

Question Number : 6 Question Id : 25498911570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ctrl, Alt, Windows logo 3R ESC St WWindows osH P B P B B ﬁm 3fhal AT 3 W & g1y g H
TN &1 o arelt Hiorl &, o e & ¥ Fiorl & forg wiyg 3 el g2

Options :

1. % &CId (Control)

2. % QISP (Logic)

3. % hiHex (Monitor)

4. % AfJNH (Navigation)

Question Number : 7 Question Id : 25498913720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which dialog box in a Windows 10 laptop lets the user select different options like Color/Grayscale, Quality, Paper Source, Paper
Size?

Options :

1. ® Printing selection

2. ® Printing choices

3. % Printing options

4. % Printing preferences

Question Number : 7 Question Id : 25498913720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IS 10 AUETT H ©1F T STHANT STRT STANTHAT B! HAR/ADB, 0T (Quality), BT TN (Paper Source), BT HTHR
(Paper Size) S fafis faeed! &1 70 &3 B gfaur a1 8?

Options :

1. = ey Rqee™ (Printing selection)
2. % fUfeT ey (Printing choices)

3. % fOfe eff=y (Printing options)

4.+ fifET Ume (Printing preferences)

Question Number : 8 Question Id : 25498922527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Identify the ODD option with reference to components of a computer system.

Options :

1. ® Arithmetic Logic Unit

2. ® Control Unit

3. & Cache memory chip

4. % Compiler



Question Number : 8 Question Id : 25498922527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HR Red & ged! & Yy & oDD fdwed &t uga™ &1 |
Options :

1. % 3O dh SHTS (Arithmetic Logic Unit)

2. % fYTHUI SHTE (Control Unit)

3. % HR AR Ry (Cache memory chip)

4, % HHISR (Compiler)

Question Number : 9 Question Id : 25498929872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which bar codes are compact, high-density codes used in logistics and transportation industries for ordering and distribution?
Options :

1. %= EAN code

2. % UPC code

3. % Code 39

4. % Code 128

Question Number : 9 Question Id : 25498929872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

%ﬁqﬁwm?ﬂ”ﬁ%,ﬁwmﬁm%wmﬂwﬁ?ﬁ?ﬁaw%maﬁmﬁ?mwﬁﬁ%mm

Options :

1. % EAN B8
2. & UPC ®IS
3. % PIS 39
4. % DI 128

Question Number : 10 Question Id : 25498930322 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Blu-ray discs is FALSE?
Options :

1. ® Blu-ray Discs store data using a blue-violet laser

2. % You need a Blu-ray player to play Blu-ray Discs

3. % Blu-ray disc is a high-capacity optical disc

4. % Blu-ray Disc does not support large volumes of data

Question Number : 10 Question Id : 25498930322 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

X & & IR B Fafafed & 9 o1 91 6y TTed 82

Options :

1. % S &% oS AoR BT IUTNT Hb ST UL I &

2. @%%@W%W W@L—%W(Blu—ray player)a’ﬁ Wﬁ%
3. % X B U 3= T areht siffPwd i §

4.+ X &% o AEn § S b guid T Rt B



Question Number : 11 Question Id : 25498930394 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Blu-ray disc media have codes written in letters to indicate a particular zone where you can play the discs.
Options :

1. % region

2. % Jocal

3. & display

4. % block

Question Number : 11 Question Id : 25498930394 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

X (&% Hifgar # ueb =iy &1 b1 e R & forg ofari o IS o g1d & ofeT 3Mu f$% =el 9abd &
Options :

1. v &7 (region)

2. % QEY (local)

3. % feoa (display)

4. % I (block)

Question Number : 12 Question Id : 25498930703 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A blogis a commentary or online diary written by one person.
Options :

1. % personal

2. ® niche

3. ® corporate

4. & public

Question Number : 12 Question Id : 25498930703 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
it e onfa g R T A a affee ST A 2
Options :

1. -"'ﬁvrﬁ(personal)

2. % 3% (niche)

3. = aﬁﬂi?(corporate)

4. % FIISAD (public)

Question Number : 13 Question Id : 25498930910 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to a plotter is FALSE?
Options :

1. ® Plotter is a type of printer technology.

2. % Plotter is a computer output device.

3. % Pen plotter is a large-scale cutting machine that uses knives/blades.

4. % Plotter uses multicolored automatic pens to create lines on paper.



Question Number : 13 Question Id : 25498930910 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Wiex & Teuf 7 Fafafad o @ &F 91 &Y Ted 82

Options :

1. % @R TP YHR Pt fiiex a1 3|

2. # WX Udh HLR M3eYe fearza gl

3. % OF WIex U 98 UM W HTe arelt A= § S a1dh/ars &1 SUART HRa 81
4. % QI HITS IR A2 a1 & o 9g37h Wanferd O (pens) BT ITIRT e B |

Question Number : 14 Question Id : 25498931028 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
A backplane in a computer or electronic system refers to
Options :

1. %" a crucial piece of hardware that connects various modules and components together.
2. % the AC voltage applied between a segment and a common element
3. % the amount of power consumed

4. % the amount of cost consumed

Question Number : 14 Question Id : 25498931028 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

WWWWﬁWW(backmane) CAR R GERGIN]

Options :

1. + fafirs Afeye 3R Uee) ) U 1Y e aTd BTSaTR & Ueb He@yul 4y
2. % e IR I uferdie & o Ty T, diees

3, % WUd P T3 fooral! (UTaR) Y amn

4. % TG PI TTg YR

Question Number : 15 Question Id : 25498931079 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following software is installed without the knowledge or consent of the user and can monitor online activities and
collect personal information while surfing Web?

Options :
1. % Adware
2. ® Ransomware

3. % Bots
4. % Spyware

Question Number : 15 Question Id : 25498931079 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fafifad & Q &1 91 QiteaiR STRTH & JH 1 JgHfd b farT R a1 SiidT & 3R g sii-rars fafafiay ot AR
PR FhdT & 3R 39 FithTT B THY AR DR Teha B bl 82

Options :

1. = 1Q@é’*ﬁ(Adware)
2. & W(Ransomware)
3. % §IcY (Bots)

4, % TR (Spyware)



Question Number : 16 Question Id : 2549899539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Which of the following is NOT a part of a printer?

Options :

1. # Connector

2. ® Sheet feeder

3. % Output tray

4. % Camera

Question Number : 16 Question Id : 2549899539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frofiiad & @ oiF-91 fileR &1 T Ui =8 82
Options :

. = W(Connector)

2. % TN WIS (Sheet feeder)

3. % wa (Output tray)

4. % aﬂ:ITT(Camera)

Question Number : 17 Question Id : 2549899592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following factors does NOT affect print speed?

Options :

1. #= Printer Type

2. % Print Quality Settings

3. % Document Complexity

4. % Computer monitor quality

Question Number : 17 Question Id : 2549899592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFufafed & 9 o 9 R fiic ©is (print speed) ﬁwﬂ%ﬁ:ﬁﬁm%‘?
Options :

|. % ffiexergy (Printer Type)

2. % fife Sifad! Afe™ (Print Quality Settings)

3. = ﬁ&{ﬁ?ﬁ?@ﬁﬂ'@r ( Document Complexity)

4. v HYR TR Hiferct (Computer monitor quality)

Question Number : 18 Question Id : 25498910983 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A Bluetooth connection between our cell phone and car's audio system is considered as a
Options :

1. % LAN

2. % MAN

3. % PAN

4. % WAN




Question Number : 18 Question Id : 25498910983 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

IR I B 3R FR 3HTea Rew & o9 T sy daRH & =Y H AHT o1 B
Options :

1. % LAN

2. % MAN

3. % PAN

4. % WAN

Question Number : 19 Question Id : 25498911160 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following operating systems was introduced by Microsoft in 1981?
Options :

1. ® Unix

2. ® Linux

3. % MS-DOS

4. % Windows

Question Number : 19 Question Id : 25498911160 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fafafad & 9 o a1 TR Rew Agw™Te (Microsoft) §RT 1981 & U far mar um
Options :

1. % Unix

2. % Linux

3. % DOS

4. %= Windows

Question Number : 20 Question Id : 25498913517 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of a fibre optic cable?
Options :

1. % Core

2. % Cladding

3. ® Jacket

4. % Connector

Question Number : 20 Question Id : 25498913517 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fRafafEd & 9 1H-91, BreeR 3PP Had BT Uh Uedh gl 82

Options :

1. % B (Core)

2. % IS (Cladding)
R aaTC'(Jacket)

4. % PATR (Connector)



Question Number : 21 Question Id : 25498913617 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following viruses is used to change the program's footprint to avoid detection?
Options :

1. # Boot Sector

2. % Web Scripting

3. #" Polymorphic

4. % Browser Hijacker

Question Number : 21 Question Id : 25498913617 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

frafaiaa & § fry IRy &1 I, GG (detection) T T84 & fTT TR & Feflic & gaaq & farg fasar Srar g2

Options :

1. ® Q@'@W (Boot Sector)

2. % q9-fepfiT (Web Scripting)

3.« UlciHTh S (Polymorphic)

4. % FTIOR IEOIH (Browser Hijacker)

Question Number : 22 Question Id : 25498918576 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Identify the sequence of steps that must be taken to configure static IP setting of Windows 10.
Options :

1. %" Click Start Menu > Control Panel > Network and Sharing Center or Network and Internet > Network and Sharing Center.
Click Change adapter settings.

Right-click on Wi-Fi or Local Area Connection.

Click Properties.

Select Internet Protocol Version 4 (TCP/IPv4).

Click Properties.

Select Use the following IP address.

Enter the IP address, Subnet mask, Default gateway, and DNS server.

Click OK.

2. # Select network interface

Click update driver

Select IP address

Enter details (like IPv4 address, subnet mask, gateway field, DNS field)
Click OK

3. # Select network interface

Click edit

Select UDP address

Enter details (like IPv4 address, subnet mask, gateway field, DNS field)
Click OK

4. % Select network interface

Click edit

Select firewall and enter details (like IPv4 address, subnet mask, gateway field, DNS field)
Click OK



Question Number : 22 Question Id : 25498918576 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Windows 10 1 %fee 1p afeT (static IP setting) P BIRBTR (configure) P & fa mﬁﬁ U S arel IRl & P H P
U B

Options :

1. % Start Menu > Control Panel > Network 31X Sharing Center YT Network 3R Internet > Network 3R Sharing Center UX fda®
D

Change adapter settings UX e B

Wi-Fi 9T Local Area Connection UR X[gC fada® B

Properties UX fda® &L

Internet Protocol Version 4 (TCP/IPv4) Taae PR |

Properties UX e B

Use the following IP address Teide @Y |

IP address, Subnet mask, Default gateway, 3R DN server &I IR oy

OK R foTes Y|

2. % Network interface I Qe B

update driver IR faTe® B

IP S Bl qolae

IECRI] (@@ & 1Pv4 address, subnet mask, gateway field, DNS field) DI IR Ry

OK R faTes Y|

3. # Network interface @I Tade B

edit R faTes Y

UDP address B! FdaC B

faaron (a@ & 1Pv4 address, subnet mask, gateway field, DNS field) B 3?? B

OK R faTes B3|

4. % Network interface P TeIFE DY

edit TR foRiep

firewall ) gddE B GﬁT IEERWI (aﬁ & 1Pva address, subnet mask, gateway field, DNS field) Ca 327 2y
OK R faeTes H3 |

Question Number : 23 Question Id : 25498918590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The address is the physical address assigned to the NIC (Network Interface Card) by the manufacturer.
Options :

1. % network

2. % 1p

3. & MAK

4. %" MAC

Question Number : 23 Question Id : 25498918590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

= %Q%H fmtar gIRTNIC (ﬁea% SETW HTS- Network Interface Card) ! FAfése fovar man Wifdw Qg’ﬂ (physical
address) I

Options :

1. % 9Cqh
2. &% Ip

3. # MAK
4. % MAC



Question Number : 24 Question Id : 25498922722 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
is an electronic device controlled by a motor that moves the hard drive head arm.
Options :
1. ® Spindle
2. % Platter
3. % Actuator

4. % Head

Question Number : 24 Question Id : 25498922722 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

o, memﬁﬁmm%@ﬁ@ﬁ%@ \3ﬂﬁ(hard drive head arm)ﬁﬁﬁﬁwgl
Options :

1. % ¢ (Spindle)

2. % WieX (Platter)

3. %" UKRJUCR (Actuator)

4. % B3 (Head)

Question Number : 25 Question Id : 25498924045 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to a web address which uniquely identifies a document over the internet?
Options :

1. % Uniform Resource Locator

2. % ]P address

3. # MAC address

4. & Domain Name System

Question Number : 25 Question Id : 25498924045 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fafeRad o ¥ $1F-91 U 39 TS (web address) BT Tefiid Rl g o fafRIy U I §exe R U SiagHc & Ugd HRdl 82

Options :

I WWW (Uniform Resource Locator)
2. & &ﬂﬁm (IP address)

3. = %Q@g (MAC address)

4. % 309 97 Rew (Domain Name System)

Question Number : 26 Question Id : 25498924327 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
are special functions or programs using which application programs or system utilities accesses Kernel's features.
Options :
1. ® System utilities
2. %" System libraries
3. & Utility programs

4. ® User commands



Question Number : 26 Question Id : 25498924327 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
ORI thaRr a1 T § fomidT SUanT Sras U2 W a1 Re s gfeferdisr deia &t gfaemsff (Kernel's
features) DT TR Hd % I
Options :
1. % ey i (System Utilities)
2. W ﬁl’{fﬁ?ﬂ%@ﬂﬁ (System libraries)
3. = ?I%%‘I—cpf S IEns] (Utility programs)
4. % QoR HHT|Y (User commands)

Question Number : 27 Question Id : 25498924502 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A BitTorrent file has a file extension.
Options :

1. % .torrent

2. ® Dbitorrent

3. % Dbittorent

4. % Dbit

Question Number : 27 Question Id : 25498924502 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fSc eRe wiza (Bit Torrent File) T I TRICTH (file extension) gIar %I
Options :

1. % .torrent

2. % Ditorrent

3. ® Dbittorent

4. % Dbit

Question Number : 28 Question Id : 25498925361 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following could be one of the reasons for which laser printer is kept in Stand By mode?
Options :

1. % To keep the fuser warm

2. ® For increasing the printing delay

3. % For cooling the toner

4. % For rotating the drum

Question Number : 28 Question Id : 25498925361 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
fFafafed & @ -1, Ao fifek 31 Ws a1 WS (Stand By mode) T 1@ &7 Th HRU 81 Tehdl 82
Options :

1. % TR (fuser) 1 TH §TT 3@ & forg
2. = fiifé facie sgm & forg

3. = a:IT(toner)ﬁ?);?:Taﬂef$%l'Q

4. % Y (drum) % YU & fag



Question Number : 29 Question Id : 25498940422 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A virus that can access computer memory and sit dormant until a payload is delivered is considered as a
Options :

1. ® Direct Action Virus

2. % File Infector Virus

3. % Browser Hijacker

4. % Resident virus

Question Number : 29 Question Id : 25498940422 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

TP IR S HeR NART I TR HR Tl § 3R Th U (payload) faalka 817 a& fAfery 38 wwar g, 39
AT ST 5

Options :

1. % STOYae TaRM araRy (Direct Action Virus)

2. % lgd EWT dIRY (File Infector Virus)

3. = WE’E@W (Browser Hijacker)

4. % TSlISC ARy (Resident Virus)

Question Number : 30 Question Id : 25498940561 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
is a global system of interconnected computer networks that use the standard Internet protocol suite (TCP/IP).
Options :
1. % Intranet
2. % Extranet
3. % Topology
4. % Internet

Question Number : 30 Question Id : 25498940561 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :
AT A S (FRBICS) HCR Aeadh Hi T AfYTH YUITel § S T TS Gex-C Weldhid Y& (TCP/IP) BT IUART
I B
Options :
1. & sf;lﬁ—c' (Intranet)
2. & Q?\‘@eﬁf (Extranet)
3. % Tgraren (Topology)
4. % 3?@_6 (Internet)

Question Number : 31 Question Id : 2549897807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following refers to a virtual world created by links between computers, Internet-enabled devices, servers, routers, and
other components of the Internet's infrastructure?

Options :

1. % Cyberspace

2. % Information space
3. ® Virtual space

4. % Data space



Question Number : 31 Question Id : 2549897807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faffed §  o1F-91, HECR, SeC-T&H IUHRUT, TR, AR 3R ST BI MRS T & 3 gedh! & &g foidh gRIT
fAfifa smumit g (virtual world) BT Tefifd Bar g2

Options :

1. Wﬂ (Cyberspace)

2. mﬁ@ﬂ (Information space)
3. = aﬁ&m g (Virtual space)

4, % SITWY (Data space)

Question Number : 32 Question Id : 2549898739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of IRC with reference to real-time online conversations ?

Options :

1. % Internet Relay Chat

2. % Information Related Charts

3. % Instant Relay Chat
4. & Information Relay Chat

Question Number : 32 Question Id : 2549898739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IRATIDH JHY 3fi-Teme araramt & Yy # IRC &7 quiey &1 82
Options :

1. % Internet Relay Chat (3'?@? et %?)

2. # Information Related Charts (ZTWBIHIM RCS ATCH)

3. & Instant Relay Chat (EQ_C' o %’c’)

4. % Information Relay Chat (gq'q'fl%.rgl:f o %_C")

Question Number : 33 Question Id : 2549899036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options is NOT available in the Images group of the Insert tab in MS-PowerPoint 2019?

Options :

1. % Shapes

2. % Screenshot

3. ® Photo Album

4. % Pictures

Question Number : 33 Question Id : 2549899036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-PowerPoint 2019 H QT\‘T(.F G (Insert tab) & ZHO U (Images group) T g 7§ ¥ p-91 fashen Iuatsy T %‘?
Options :

| (Shapes)

2. % WhHIHRIC (Screenshot)

3. % icl TedH (Photo Album)

4. % g (Pictures)



Question Number : 34 Question Id : 2549899037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Which of the following keyboard shortcuts in MS-Excel 2019 is used to open the Spelling dialog box to check spelling in the active
worksheet or selected range?

Options :
1. ® F1
2. % F7
3. % F3
4. % F2

Question Number : 34 Question Id : 2549899037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 ® FEfiRad sias Qicwe & § foaamt B'Cl?ﬁ‘T, ehg g eite a1 Tafd ¥t (selected range) o ga-t (spelling) Gl
S B P forT WA ST ST (spelling dialog box) T & g fvam ST 82

Options :

1. % FI

2.% F7

3. % F3

4. % F2

Question Number : 35 Question Id : 2549899038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of NSDL?

Options :

1. % National Securities Depository Limited

2. ® National Securities Depository Liability

3. % Nation Social Depository Liability

4. & New Securities Depository Limited

Question Number : 35 Question Id : 2549899038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

NSDL &1 qUf &1 &1 82

Options :

1. %" National Securities Depository Limited (#—‘TFIT*T WG[ fSuiforest %&l%g)

2. ® National Securities Depository Liability (ﬁw wrﬂ fEurforest a'l'{i%lﬁ'cpr)
3. # Nation Social Depository Liability (7R 9I=1a f&uiforest arsfaferd)

4. % New Securities Depository Limited (<J Riagielet feuifored! fafiics)

Question Number : 36 Question Id : 2549899096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

OLTP stands for:

Options :

1. %" Online Transaction Processing

2. ® Online Transfer Processing

3. % Online Temple Processing

4. % Online Template Processing



Question Number : 36 Question Id : 2549899096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

OLTP &1 JUf U &1 §?

Options :

1. %" Online Transaction Processing (mm m@ﬁiﬂ)
2. % Online Transfer Processing (&ﬁ:m'lgtf W uﬁﬁm)

3. % Online Temple Processing (a{ﬁa@%qam@m

4. % Online Template Processing (\}ﬁ:IT“IE:T U Eh@ﬁm)

Question Number : 37 Question Id : 2549899097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :
is a class of software programs capable of supporting transaction-oriented applications on the internet.
Options :
1. % OLTP
2. % OLTB
3. % OLTC

4. % OLTA

Question Number : 37 Question Id : 2549899097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3 ,3CRAC R Hrd-Ture [S3C) GHCI'ChTﬁ (transaction-oriented applications) DI U B | G AR TRImH!
Eaneca [

Options :

1. ¥ OLTP
2. % OLTB
3. % OLTC
4. % OLTA

Question Number : 38 Question Id : 25498920460 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Yahoo!, Google and Bing are
Options :

1. % search engines

2. % computer brands

3. ® browsers

4. & internet service providers

Question Number : 38 Question Id : 25498920460 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

I8! (Yahoo!), TFTA (Google) 3R T (Bing) gl
Options :

1. % @WETFFT (search engines)

2. % W §IT<S (computer brands)

3. % |3V (browsers)

4. & 3?@_6' a1 TeTd (internet service providers)



Question Number : 39 Question Id : 25498925199 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The first part of the IP address of any host refers to the
Options :

1. % Network address

2. % Host ID

3. % Home address

4. % ISP address

Question Number : 39 Question Id : 25498925199 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

ol 1t BIRE (host) & 1P TS &I UGl U &I Geffd praT gl
Options :

1. ¥ cad TSy

2. % BREID

3. % gHTSY

4. % ISPUZY

Question Number : 40 Question Id : 25498925200 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the first page that the user sees when the website is opened?
Options :

1. % Master page

2. % Home page

3. ® Index page

4. & Title page

Question Number : 40 Question Id : 25498925200 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

frofifa & 9 oiH-91 95 uee Us § o SuaiTadl deemge Wiad € Sadr 82
Options :

1. % AR U (Master page)

2. % E-Tq | (Home page)

3, % SR U (Index page)

4, = maﬁf (Title page)

Question Number : 41 Question Id : 25498938424 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

is one of the first VoIP call signalling and control protocols that found widespread implementation. Its deployments are
increasingly limited to carrying existing long-haul network traffic.

Options :

1. ® Inter-Asterisk eXchange (IAX)

2. % H.323

3. % Extensible Messaging and Presence Protocol (XMPP)

4. % TCP/IP (Transmission Control Protocol/Internet Protocol)



Question Number : 41 Question Id : 25498938424 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

, U VoIP Bidt RIEARIT (signalling) 3R FHeid Neibid & I T & o a9 =0 I AN faar T § | 33T URfas
(deployments) ﬁ\_rj@'[ d=1-gld Jead E‘W (long-haul network traffic) & URag do ST grar o &1 % I
Options :

1. #= EET-Q@'F{W Qaﬂéﬁf (Inter-Asterisk eXchange -IAX)

2. %" H.323
3. # THCRIEd ST TS IS Uieidid (Extensible Messaging and Presence Protocol -XMPP)

4. % TCP/IP (CIATHRM dhdld MAdhId / e Ulcidbia)

Question Number : 42 Question Id : 25498938425 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

With reference to VoIP, which control protocol is used for media gateways across a converged internetwork consisting of the
traditional public switched telephone network (PSTN) and modern packet networks?

Options :

1. % Skype

2. % Inter-Asterisk eXchange (IAX)
3. % H.248

4. & Jingle

Question Number : 42 Question Id : 25498938425 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :

VoIP & He &, fafafad # I fry deid Uieierd &1 SudN HifSar eddl (gateways) & [0 Th AR Sex-cad
(converged internetwork) o fopar orar % g8 AT ufsies fGes el Sead (public switched telephone network-PSTN)
3R 3y Ydve eads Afid 82

Options :

1. % IPIQU (Skype)

2. & W—Q@W QEF\‘:I%WT[ (Inter-Asterisk eXchange -IAX)

3. % H.248
4. % TSI (Jingle)

Question Number : 43 Question Id : 25498938426 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

With reference to VoIP, which transport protocol is used for real-time audio and video data?
Options :

1. # SDP

2. % JAX

3. % XMPP

4. % RTP

Question Number : 43 Question Id : 25498938426 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

%OIP & de ﬁ, RER: AT ‘gmth'c“ I (transport protocol) T T Rad-ergH sifear IR AR ST F ferq fobar Sian
?

Options :
1. %= SDP
2. ® JAX
3. % XMPP
4. % RTP



Question Number : 44 Question Id : 25498942682 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Charts or graphs in MS-Excel are used for:

Options :

1. ® making information funny

2. ®% making information difficult to understand

3. % making information clearer and easier to understand

4. % making information complex

Question Number : 44 Question Id : 25498942682 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel H TTE 7 TP BT STANT > o fPar Smar g1
Options :

1. % SFHRI B AolaR M

2. % I P O H HidH 9

3. o I B THIH & o1T T 3R A T

4. % I B Sifed g9

Question Number : 45 Question Id : 25498942686 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The currently selected cell in MS-Excel is also called the
Options :

1. % active cell

2. % rounded cell

3. ® main cell

4. % formula cell

Question Number : 45 Question Id : 25498942686 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel ﬁmﬂﬁﬂﬂﬁﬁ@ﬂaﬁ_ i T AT B
Options :

1. Ofcha I (active cell)

2. % 388 A (rounded cell)

3. & H@@ﬂ (main cell)

4. & qﬁﬁ?ﬂ qd (formula cell)

Question Number : 46 Question Id : 25498942702 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which type of the blog focuses on a specific topic that appeals to a particular audience, making it one of the most effective types of
blogs for targeted traffic?

Options :

1. ® Personal
2. % Niche
3. % News

4. % Review



Question Number : 46 Question Id : 25498942702 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

9 UeR 1 a1 Ut fAfRy fawg W Hfad giar 8 S v faxw aufes aif & s fifa srar 8, St 52 afra 2fthe & fore ge
TUTH YR & ST H 9 U ST 82

Options :

1. = tIﬁtlT‘T(Personal)
2. % = (Niche)

3. & Yol (News)

4. % M(Review)

Question Number : 47 Question Id : 25498942709 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
‘=SUM(A1:A3)’means __ in MS-Excel.
Options :

1. # function sums all the values from A1 to A2
2. % function sums all the values from A1l to A3
3. & function sums all the values from A1 to A4

4. % function sums all the values from A0 to A2

Question Number : 47 Question Id : 25498942709 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel H '=SUM(A1:A3) BT 3f8f |
Options :

1. % Ha=H Al I A2 T & it AT BT 31T HraT &
2. % TaRH Al ¥ A3 I Gt HT1 &1 TN Rl §
3. % ThaRH Al ¥ A4 I & Gt 1 BT T Rl §
4. % THaRM A0 T A2 TP P IHt A1 &7 I a1 8

Question Number : 48 Question Id : 25498942728 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
consists of many tabs such as File, Home, View, Insert, etc. in MS-Office.
Options :
1. % Status bar
2. % Ribbon
3. % Paragraph
4. % Clipboard

Question Number : 48 Question Id : 25498942728 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :

MS-Office H, T BIEd (File), B (Home), T (View), 3IC (Insert) STS o1 Fs ¢d B & 1

Options :

1. = waﬁ(smtus bar)
2. % & (Ribbon)

3. = 13?|"5qu3(Paragraph)
4, & W(Clipboard)



Question Number : 49 Question Id : 25498942729 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which keyboard shortcut is used to move to the previous cell in a worksheet or the previous option in a dialog in MS-Excel 2019?
Options :

1. % Shift + Alt

2. % Shift + Tab

3. & Alt + Shift

4. % Ctrl + Tab

Question Number : 49 Question Id : 25498942729 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

%s;xcd2%0191?&aﬁaﬁﬁ%ﬁ@awaﬁ%ﬁmmmﬁﬁﬁﬁﬁwwaﬁ%ﬁmmﬁémﬁmmw
ST 82

Options :

1. % Shift + Alt
2. % Shift + Tab
3. % Alt + Shift
4. % Ctrl + Tab

Question Number : 50 Question Id : 25498942742 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
A cell in MS-Excel is identified by a
Options :

1. % cell reference

2. & formula

3. % cell size

4. % label

Question Number : 50 Question Id : 25498942742 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel § T I (cell) B UG GRI P ol 8
Options :

1.+ Id Reew (cell reference)

2. & q#ﬁi?l’[(formu]a)
3.% A9 20T (cell size)

4. % T (label)

Question Number : 51 Question Id : 25498942752 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following offers a way to access documents spread over the several servers over the internet?
Options :

1. ® Video Conferencing

2. % World Wide Web

3. % Electronic Mail

4. % Internet Telephony



Question Number : 51 Question Id : 25498942752 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

frafeRad o ¥ 31, $evc IR s JdI R al GXTaSll (documents) BT TR HRA BT T dRIdT UM Hdl 82
Options :

1. % fafSar SRR (Video Conferencing)

2.+ Ice 138 A (World Wide Web)

3% mﬁa(memomc Mail)
4. % AT CAIBIH (Internet Telephony)

Question Number : 52 Question Id : 25498942753 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following symbols can be used to enter a number as text in MS-Excel 2019?
Options :

1w«

2. % s

Question Number : 52 Question Id : 25498942753 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 ¥, ft TRea &1 CoRe & T H gl A & fore Fuferiad & & fore Udites &1 SuinT fasar i wdhar 82

Options :
I

2. % s

READING COMPREHENSION
Section Id : 2549898930

Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898971
Question Shuffling Allowed : No



Question Id : 25498921409 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Bhagat Singh, the great revolutionary and martyr, was only 23 when he was hanged in Lahore jail in 1931 for having thrown a bomb
in the Legislative Assembly Hall in Delhi on 8 April 1929. This was the end of a life devoted to the great task of first making India
free from the British rule and then building India into a strong nation. Bhagat Singh dreamt of an India where there would be respect
for every religion and where all Indians would get the basic necessities of life.

Bhagat Singh was born in 1907 in a well-to-do Sikh family of Punjab full of love for the country. As a child, his ideal was his uncle
Ajit Singh, who was a great freedom fighter. Two incidents played a major role in shaping Bhagat Singh’s life. In Jallianwala Bagh in
Anmritsar, a peaceful gathering of unarmed people was subjected to firing at random at the orders of General Dyer. Bhagat Singh ran
away from school to visit the site of the tragedy. He was greatly moved by the bullet marks on the walls of Jallianwala Bagh. He
brought back with him some blood-soaked mud in a small bottle to remind him of the cruelty of the British. The second incident was
the death of Lala Lajpat Rai in 1928. Lala Lajpat Rai was also Bhagat Singh’s ideal. He was leading a protest march when he was
beaten up with lathis. He died soon after. Bhagat Singh felt highly agitated and wanted to protest strongly.

Bhagat Singh thought of throwing a bomb in the Assembly Hall. The idea of killing so many Englishmen delighted his friend
Chandra Shekhar Azad. But Bhagat Singh said that he did not want to kill anybody. He only wanted to make the British rulers hear.
After throwing the bomb Bhagat Singh and his friends did not try to escape. They were arrested and put to trial. In a statement that
Bhagat Singh made during the trial, he said, "The bomb was necessary to awaken England from her dreams. Our sole purpose was to
make the deaf hear, and give a timely warning...."

Sub questions

Question Number : 53 Question Id : 25498921410 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :

Bhagat Singh is called a martyr because:

Options :

1. * he built India into a strong nation

2. ® he dreamt of a secular India

3. % he was hanged for protesting against the English
4. % he threw a bomb in the Assembly Hall

Question Number : 54 Question Id : 25498921411 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Bhagat Singh brought blood-soaked mud from Jallianwala Bagh to:
Options :

1. % throw it into the Assembly Hall

2. % smear his forehead with it

3. % preserve it as a souvenir

4. %" remind him of British atrocities

Question Number : 55 Question Id : 25498921412 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Bhagat Singh threw a bomb in the Assembly hall to:
Options :

1. ® kill the Englishmen present there

2. % warn the British government

3. & prove his bravery

4. & please Chandra Shekhar Azad

Question Number : 56 Question Id : 25498921413 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
A ‘well-to-do’ family is one which:
Options :

1. ® owns many wells



2. % is well known
3. % is well off financially
4. ® isin good health

Question Number : 57 Question Id : 25498921414 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Who ordered the firing at Jallianwala Bagh?
Options :

1. % Bhagat Singh

2. % Ajit Singh

3. ® Lala Lajpat Rai

4. %" General Dyer



Question Id : 25498921409 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

fQ 7T eI B U 3R ISP SMUR W U P IR S|

¥ 1931 # 919 He™ HifdeR IR gia, HTd Rig, $ad 23 36 & & 79 3 8 31U, 1929 P faeeh & el g7d # T a9
Tl & H H AER il 7 il &1 778 o | I8 HRe b ygel foifer = & o 3 SR O 4R &1 Ueb HoTgd AP S b
TR BT o o Tt Sia o1 ofd U1l 4T Rig = T T YR ST O 31 18T &% 4 o fore T &1 ofR oet wedt
YRG! & Slia &1 ayd Maadmand 331 81|

1A g &1 97 1907 T <=1 & oy O 9 R, USTE & U T g URaR & g3 T o & U H, 370 3Me] 3 ardl
3foitd Rig 3, S T WM WciaAdl YT A1 W1 Rig & Sfia 1 STbR oA # & gersil 3 U T YfHres1 v oY | srgaer #
SiferaifaTe ST H, g T T gl THT TR SR SRR & M= TR STy M) gs | HTd Rig el & R B g@
& o @ & YT R 1Y A | 5 SHrTaTen S Bt EaRT W MierT 3 IR B ey gt e @ 7 MY A1 9% o 9 U
BIA Fida & 81 B G I 1 ISt Ao 3 a1fy I SIS 1 vl 1 TG faardht B |
TR e, 1928 T ATE AroTIaRid &t g ot | e AreraeRtg off 4iTd R & oe ¥ 98 U faRiY ATE &1 Agd B Xg 3 aut
%u?w%jsaa;wmwwsﬂm$mwaﬁwaﬂém i1 Rig 3 9gd Sfd Hegd FR 3% U 3R 98 Hal

o HRAT |

iTd R 7 Sriach gl & U 90 B o1 (g fohaT| 37 IR SHSl &1 ARA & R ¥ 3% B J5RaR 311oTe agd Ued
BT Y| <ifp wiTd Rig A Fg1 s 98 fosddl b1 1t IRAT 81 a8 d | 98 dhad e Ire! &1 3ol a1d A a8 d 3| 97 T
% 91 T g 3R 39 il 3 WA &1 B 7t Bt 2| 99 I8 FRUIR B foram T o1 3R GaweHT et 1 oT| U
T H S YT Rig A F TRM faur, IBi BT, ST BT 7% U I SH P 7T 99 TP UT| §HRT THHE
IR FIRT DY AT 3R JHY TR AdTG-1 &1 1.

Sub questions

Question Number : 53 Question Id : 25498921410 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Tl e b 2ETE PeT Sdl § il _

Options :

1. % I HRd Pl Teb Aol Y ST U1

2. % I TP YHFRYE HIRA BT U G@1 T

3. % 35 SIS & REeh foRiy & forg el &t 715 ot

4. ® I el BT H Ub §H bl U

Question Number : 54 Question Id : 25498921411 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

WTd Rig StcrdiaTen ST 4 981 &1 g7 3 9+ fig! a1 arg A7
Options :

1. % 3rqell gd # thep & forw

2. % JP WY W T & forg

3. % Wfd fog & =u ¥ Wied fovar s 9

4. + I Tfew &) var &) ure et @

Question Number : 55 Question Id : 25498921412 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Tl R 3 et BTt # o ol thepr U2
Options :

1. % ggf Hig S & AR & fow

2.+ f§fe TRBHR B =l ¢ & forw
3. & Ut weTgl R v o fag

4. % TERIWR 3TNGB Y8 DA & fog

Question Number : 56 Question Id : 25498921413 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0



U < URAR 98 & Si/oFd
Options :

. % O B pUBA S

2. % GG gIaT®

3. % e TUATUA B &
4, % WRIIDVEAE

Question Number : 57 Question Id : 25498921414 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
SIferaiarar ST § e T &1 e feaq faar are

Options :

1. % yrq Rig

2. % 3fid fRig

3. & Il ASY R

4. % ST SR

QUANTITATIVE APTITUDE

Section Id : 2549898931
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898972
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928833 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Rajni purchased a mobile phone and a refrigerator for 12,000 and X10,000, respectively. She sold the refrigerator at a loss of 12%
and the mobile phone at a profit of 8%. What is her overall loss/profit?

Options :

1. % Loss of 3280

2. % Profit of 22,160
3. % Loss of 3240

4. % Profit of 32,060

Question Number : 58 Question Id : 25498928833 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

IS 7 T HITTgd B 3R T ITpoRex HHTT: 212,000 3R 210,000 H WIET| 3T IR B 12% H1 1 3R Hiamd
W B 8% & ATH TR 97 {11 IS Hdt gif/am fa= g2

Options :

1. % 3280 I &I
2. ® 22,160 BT ATH
3. % 3240 B BN
4. ® 32,060 T ATH



Question Number : 59 Question Id : 25498928978 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The average height of 13 girls in a ¢lass is L-H% e The average height of 11 baovs in the class is lE:'EE'f—1 it
There arc only 24 student= in the class. What is the overall average height (in cm) of all the students together in the
class?
Options :
+
156~
i

1. =

Question Number : 59 Question Id : 25498928978 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
ek hath oR1 13 Tl I e T 144 Sem B 330 den & 1 asel B
Fhoa TEE 150 % orm | T 35 TR & wimen dham 24 & v R &
waft et i st T8 (om &) AT o

Options :
3

- 1551

2.+ 156
3 % 183

4 % 159

Question Number : 60 Question Id : 25498929136 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The average weight of Neena, Meena and Reena is 50 kg. The average weight of Neena and Meena is 45 kg. The average weight of
Meena and Reena is 47 kg. What is the weight of Meena?

Options :

1. % 30 kg
2. % 31kg
3. % 32kg
4. % 34 kg



Question Number : 60 Question Id : 25498929136 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A, W4T SR 91 BT 3iAd IO 50 for AT g1 =T 3R T b7 3N aoi 45 fhauma g1 J1 3R 41 7 3 d oo 47
frauma g1 H91 o1 goi fham g2

Options :

1. % 30 fpaum®
2. % 31 fhammm
3. % 32 fpanm
4.+ 34 fTharuy

Question Number : 61 Question Id : 25498929360 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

What least number must be subtracted from 1931 so that the resulting number when divided by 9, 10 and 15 will leave the same
remainder 5 in each care?

Options :
1. %= 31
2. % 33
3. % 36
4. % 41

Question Number : 61 Question Id : 25498929360 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

1931 T ¥ S T 7w Weam geTs ST =fet arfes alRomd TRear &1 9, 10 3R 15 J faHid o7 R vde fufa & gom
AYHS 5 U B1?

Options :
1. %= 31
2. % 33
3. % 36
4, & 4]

Question Number : 62 Question Id : 25498929566 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

In a survey of 120 persons, it was found that 28 read magazine A, 30 read magazine B, 42 read magazine C, 8 read magazine A and B,
10 read magazine A and C, 5 read magazine B and C and 3 read all the three magazines. How many persons read magazine C only?

Options :
1. %27
2. %28
3. % 30
4. % 32

Question Number : 62 Question Id : 25498929566 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

120 afeaal & T Fd&ur H, g8 uran 1 S 28 il 3 uf¥et A ud, 30 safaqal 3 uffer B U, 42 safdaal 3 ufer c g, 8
il 3 uf3eT A 3R B UE, 10 faddl 3 uf¥ieT A 3R C U, 5wmﬁuﬁWBaﬁwcqaﬁa%n3wmﬁEﬁﬂ‘mﬁm
mwmammcm

Options :
1. %27
2. % 28
3. % 30
4. % 32



Question Number : 63 Question Id : 25498929640 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes
Correct Marks : 1 Wrong Marks : 0

The base radius and height of a right circular cone are 6 cm and 12 c¢m, respectively. A plane parallel to the base of the cone divides it

into a smaller cone and a frustum. If the height of the frustum is 4 cm, the volume of the frustum, in cm

Options :
152

'y
3

2280

304

3, is:

Question Number : 63 Question Id : 25498929640 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes
Correct Marks : 1 Wrong Marks : 0

TP TG AP & YR BT AT 3R S8 HH: 6 cm 3R 12 om 81 VP F YR & IR T TH7 39 UH BIC UF
3R U foswres ® fauTiId e 31 fe; f59e Bt TS 4 om B, ) 5976 7 3T (em® H) T BRI

Options :
152

[.%= 3

T
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Question Number : 64 Question Id : 25498910165 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

'Rhythm' is related to 'Music' in the same way as 'Design' is related to ' .
Options :

1. % Symmetry

2. % Architect

3. % Beauty

4. % Building

Question Number : 64 Question Id : 25498910165 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

T PTG T8) G9Y 7, S Hae TS Bl R
Options :

1. % gHfAfd

2. % IRGHR

3. % Yexdl

4. % QHRT

Question Number : 65 Question Id : 25498912955 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Each of the given letters has been assigned a unique number. Select the combination of numbers such that the corresponding letters
when arranged accordingly will form a meaningful word.

ka1 T[] ]
1 [ 2] 3 4[85]|s

Options :

1.%1,2,4,5,6,3
2.%3,2,4,1,6,5
3.%4,2,3,1,5,6
4.%6,5,3,2,4,1

Question Number : 65 Question Id : 25498912955 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :

ﬁnﬁ;q@;&maﬁwmﬁwﬁﬂé%Qwﬁm@@mqﬁ%ﬁﬁmwﬁaﬁmm@mmmw
refep Teg |

x |A| T |G| E| L]
i | 2| 3 | 4 | B3| 6

Options :

1. % 1,2,4,5,6,3
2.%3,2.4.1,6,5
3.%4,2,3,1,5,6
4. % 6,5,3,2,4,1




Question Number : 66 Question Id : 25498919036 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain way.

Sial : Sima : Mantle
Options :

1. % Core

2. % Asteroid

3. ® Jonosphere

4. % Comet

Question Number : 66 Question Id : 25498919036 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

famedl 7 & a8 Weg 9T S freht AR R I fow 7T Wsg I & IHH B
foara - Ry - Heq

Options :

1. ¥ IS

2. % &als

3. % IO HSA

4. % g

Question Number : 67 Question Id : 25498919779 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): Mohammad-bin-Tughlaq is called the 'wisest fool'.
Reason (R): He had wise plans but implemented them foolishly.

Options :

1. %" Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % Ais true but R is false.

4. % Ais false but R is true.

Question Number : 67 Question Id : 25498919779 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks :

fafafaa 9 Fy, ifiey (A) 3R BRI (R) S T8 T Tat fdwey 1 ag9 o

BT (A): FIGHE-SH-TTAS B T8 T Td HgT oIl g |
PRI (R): I°D TN FFGAMT 4R Ao o, 2o I 3¢ J@argul dlies & ar] fear|

Options :

1. % A 3R R G G § 3R R, A BT Ge! WHHR B

2. % A 3R R S T & A R, A BT TE) Wb TSI B
3. % AT S WG R ST &

4. % AT T RIRII |



Question Number : 68 Question Id : 25498927391 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that satisfies the same conditions of the placement of the dots as shown mn the given fisure.

2. %




Question Number : 68 Question Id : 25498927391 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
31 [y o g e o 2] R af el & s [y & Sl & v ol ) gof s

Question Number : 69 Question Id : 25498928158 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

If in a certain language, BABIES is coded as 84 and TOP is coded as 42, then how will NUMERATOR be coded in that language?
Options :

1. % 108

2. % 126

3. % 120

4. % 189



Question Number : 69 Question Id : 25498928158 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes
Correct Marks : 1 Wrong Marks : 0

I T FAf3T WTST & BABIES &1 84 3R TOP ®I 42 & U H Hedg [l ofTdl &, dl 3 HIST & NUMERATOR &I 58 Hedg

[ERISIIY
Options :
1. %108
2. % 126
3. %120
4. % 189

GENERAL AWARENESS
Section Id : 2549898933
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898974
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which northeastern state does the Tropic of Cancer pass through?

Options :

1. % Assam

2. ® Meghalaya

3. ® Nagaland

4. %" Mizoram

Question Number : 70 Question Id : 2549895311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

&b ¥ b YTt ISY A Bl ol 82

Options :
1. % 3{H
2. % BT
3. % ANTS
4. fooIRA

Question Number : 71 Question Id : 25498912568 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The main pollutant responsible for Bhopal Gas Tragedy is:
Options :

1. %" methyl isocyanate

2. ® bromine

3. & chlorofluorocarbons

4. *% chlorine



Question Number : 71 Question Id : 25498912568 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

HIOTe T 1) & for 9 & @ -9 Ugue I U ¥ STRer! U1
Options :

1.« A 3MsAE-e

2. % §iHA

3. % FARIGARIDTSH

4. % FIRH

Question Number : 72 Question Id : 25498922863 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Seahorse is an example of phylum:
Options :

1. % chordata

2. % mammal

3. % reptile

4. % mollusca

Question Number : 72 Question Id : 25498922863 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

\3{%Fﬂ:f (Seahorse) ﬁ'{; 73 frg gy (phylum) T Udh 3alerUl %?
Options :

1. % Prscl

2. % YR

3. % T¥gy

4. % BT

Question Number : 73 Question Id : 25498932517 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Bank deposits that can be withdrawn without a notice are called:
Options :

1. % account payee deposits

2. % fixed deposits

3. ® variable deposits

4. %" demand deposits

Question Number : 73 Question Id : 25498932517 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fomT e & Freprelt o1 T aTelt Seb STHT &) T BT Sl &2
Options :

1. % @rd § < 5

2. % grafey S|

3. % R ST

4. % TET ST



Question Number : 74 Question Id : 25498932598 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following rights was described by Dr BR Ambedkar as the ‘heart and soul’ of the Constitution?
Options :

1. ® Right to freedom of religion

2. ® Right to property

3. % Right to equality

4. % Right to constitutional remedies

Question Number : 74 Question Id : 25498932598 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

g o 3 fg iR & ST, S8R eSHR A HRAT TAUTH BT ged 3R ST & =u H afdfq fHar g2
Options :

1. % 1t ST BT SHfUHR

2. % U &1 UBR

3. % YA T DR

4.+ HAYTF ITARI FT SHRHR

Question Number : 75 Question Id : 25498936902 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
How was the Peninsular Plateau formed?
Options :

1. % Volcanic activity

2. ® River sedimentation

3. %" Breaking of Gondwanaland

4. & Glacial activity

Question Number : 75 Question Id : 25498936902 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
g UaR 1 fAufor B9 gan
Options :

1. % SaregE fafafe ¥

2. % 9l & queH 9

3. % AT A BT e o

4. % TR Tiafafy &
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Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0

English Mock

Section Id : 2549898934



Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898975
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498946188 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498942578 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None

Music is the art of arranging sounds in time through the elements of melody and harmony and rhythm and timbre. It is one of
the universal cultural aspects of all human societies. Common definitions of music generally include its elements such as pitch
such as melody and harmony and rhythm to which the associated concepts are tempo and meter and articulation as well as
dynamics means the softness of sound and the sonic properties of timbre and texture all of which constitute a musical sound.
These are all parts of music. Different styles or types of music may emphasize or deemphasize or omit some of these elements.
Music is performed with a vast range of instruments and vocal techniques ranging from singing to rapping there are solely
instrumental pieces and solely vocal pieces such as songs without instrumental accompaniment and pieces that combine
singing and instruments. In its most general form the activities describing music as an art form or cultural activity include the
creation of works of music or songs and tunes and symphonies and so on are the criticism of music the study of the history of
music and the aesthetic examination of music. Ancient Greek and Indian philosophers defined music in two parts. First are
melodies as tones ordered horizontally and second harmonies as tones ordered vertically. Common sayings such as the
harmony of the spheres and it are music to my ears point to the notion that music is often ordered and pleasant to listen to.
However twentieth century composer John Cage thought that any sound can be music and saying. For example there is no
noise only sound. The creation and performance and significance and even the definition of music vary according to culture
and social context. Indeed throughout history and some new forms or styles of music have been criticized as not being music.
There are many types of music including popular and traditional music and art music and music written for religious
ceremonies and work songs such as chanteys. Music can be divided into genres such as country music and Genres can be
further divided into sub genres. For example alternative country and country pop are two of the many country sub genres
although the dividing lines and relationships between music genres are often subtle and sometimes open to personal
interpretation and occasionally controversial. For example it can be hard to draw the line between some early hard rock and
heavy metal. Within the arts and music may be classified as a performing art or a fine art or as an auditory art. Music may be
played or sung and heard live at a rock concert or orchestra performance and heard live as part of a dramatic work means a
music theater show or opera or it may be recorded and listened to on a radio or MP three player or CD player or smartphone
or as film score or TV show. In many cultures music is an important part of human life and as it plays a key role in religious
rituals and rite of passage ceremonies like graduation and marriage and social activities like dancing and cultural activities
ranging from amateur karaoke singing to playing in an amateur funk band or singing in a community choir. People make
music as hobby.
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Question Number : 79 Question Id : 25498944410 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None
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